4.2 (Dynamic Programming)

4-3:( The Shortest Path Problem in A Multi-Stage Graph):

(Multi-Stage Graph),

(Backward approach) --
g¢)=x T
f(X,Y)=X Y X,Y )
g©e=s T ( )
1) g (A, g*(A2), g (Ag),

g* (S =minimum{ 5+ g*(A;), 3+g*(A2), 7+g*(As)}

2 g (A1), O (A2), g*(A9)?
g*(Ay) =minimum{ 4+ g*(B;), 3+g*(B2)}

g*(Az) =minimum{ 6 + g*(B1) , 4+g*(B), 8+g*(By)}

g*(Ag) =minimum { 5+ g*(Bz), 3+ g*(Bs)}

©) g“(By), g*(Bz), g*(Bs)?



g*(By) =minimum { 2+ g*(Cz), 1+g*(Cs)}

g*(Bz) =minimum { 2+ g*(C41), 1+g*(Cg)}

g*(Bs) =minimum { 1+ g*(C2), 5+g*(Cs)}

(4) g*(C), g*(Ca), g*(Cy)?
g (C) =7 g (C)=7 g*(Cs) =12 3.3, 1),
S T
: ©) @ @, :
1(Stage 1):
S d, f(S, dy ) f(Si, di) + g (S) g*(S) d;
S=T g (S)=g*(@)=0
C, T 7 7+0 7 T
C, T 9 9+0 9 T
Cs T 8 8+0 8 T
2(Stage):
SZ d2 f(&i dZ ) f(SZ ' d2 ) + g* (Sl) g* (SZ) d;
S=d,
B, C, 2 2+9 11 C,
Cs 4 4+8
B, C, 2 2+7 9 C,
Cs 3 3+8
Bs C> 4 4+9
Cs 5 4+8 12 Cs
3(Stage 3):
S ds (S, ds) (S, ds) + g (&) (&) d,
S=0d;
Ar B, 4 4+11
B, 3 3+9 12 B,
Ay B: 6 6+ 11
B, 5 5+9 14 B,
Bs 8 8+12
Az B, 5 5+9 14 B,
B 3 3+12

4(Stage 4):



S ds (S, dy) f(Sy, ds) + g*(S) g (S) d,
S=d,
S Aq 5 5+12 17 Aq
A, 4 4+14
Az 4 4+14
4 S T 17

S—’A]_—'Bz —>C1—>T

gX)=s X

g(M=s T ( )

@y g“(C1), g*(Cz), g*(Cy),

g*(T) =minimum { g*(C1) +7, g*(C) +9, g*(Cs) +8}
(2 g*(C), g (Ca), 9" (Cy)?

g*(Cy) = minimum { g*(B2) + 2}

g*(Cz) =minimum { g*(By) +2, g*(Bs) +4}

g*(Cg) =minimum { g*(By) +4, g*(Bz) +3, g*(Bs) +4}
3 g*(By), g*(B2), g"(Bs)?

g*(B1) = minimum { g*(A;) +4, g*(Az) +6}

g*(B2) =minimum { g*(A1) +3, g*(A2) +5, g*(As) +5}
g*(Bs) = minimum { g*(Az) +8, g*(As) +3}

(4) g (A1), O (A2), g*(A9)?
g*(A) =5 g"(A2) =4, g*(As) =4, ). (2, (1),




, ©) 2 D,
1(Stage 1):
S d f(dy, S1) f(di, S1) + g°(S) g*(S) d,
=T, g($)=0
A S 5 5+0 5 S
A, S 4 4+0 4 S
A; S 4 4+0 4 S
2(Stage):
S d, f(d;, &) f(d2, $) + g*(S) g (S) d,
S=d,
B, Aq 4 4+5 9 Ay
A, 6 6+4
B, Ay 3 3+5 8 Ay
Ay 5 5+4
A; 5 5+4
B A, 8 8+5
Az 3 3+4 7 Az
3(Stage 3)
f(ds , +g* *
S b (G, S) (&, %)+ 0°(5) ¢
S=d;
C, B, 2 2+8 10 B,
Cz B]_ 2 2+ 9 1 Bl
Bs 4 4+7
Cs B: 4 4+9
B, 3 3+8 11 B,
Bs 5 5+7
4(Stage 4):
f(d, , + g* *
S ds f(ds, &) ( 2): d? ) 0" (S) d,
T C: 7 7+10 17 C:
C, 9 9+ 11
Cs 8 8+ 11
S T 17, 4
S - Al - Bz - Cl - T




4.2

(Optimization Problem)

( 4.

Belman| ]

(Recursive Optimization Relationship),

1)
A, Ay A
(2)
A A A
3)
4-3

(4)

(Stege)

(State),

(Stege), (State),

(Principle of Optimality)

A AL A T
A A,
(Decision),
B,
dh
S [3%2® | S

41

(Decision Variable),

4-3

4-3



4-3

‘M =0 9'(C)=7 g (B) g (C) ‘S
f TP g7 @ gB) o g(C) o | )
g (Cy) =12 g (Bs) g (&)
©) i : i-1 ( 1,..., i-1 )
i 4-3
g* (A1) =minimum { 4+ g*(B1), 3+g*(By)}
g*(A2) =minimum{ 6+ g*(B;) , 4+g*(Bz), 8+g*(B3)}
g*(As) = minimum { 5+ g*(B;), 3+ g*(Bs)}
41,
(6) (Principle of Optimality) :
?
?
? ?
? ?
?
(decision) (1)

(Deterministic Dynamic Programming) 2): (Probabilistic Dynamic



Programming) D (Discrete State Space)  (2)
(Continuous State Space),
1. (Deterministic Dynamic Programming): , ,

S d;, i-1 Sa (

(Probabilistic Dynamic Programming): ,

, S d, . P sW,i=1,...,k

p,+...+p =1(

S4 F0(s,x)

@ t(s,%) pit P2t . +pc=1
S .
Pe
S £s.%)
4.
S = k (Stage k),
(Discrete State Space): . S , , S={acde}, S=
{1,2,...,n,...}, S={36,912,...,3, } , s, sl S,
(Continuous State Space): Y , , S=[abl,a<b, S=
R( ), S=[0,10[1, 31 ={(x, Y)IOEXE£1, 1£y£3} : s, sl S,
(Cdculus of Variation) (Optimal Controal),



